KsapTuporpacms

Tun [NpuBeaeHHas

KBapTUpbI nnowiagb Kon-80 Wtoro
1 aTax
1a 43.68 m? 2 87.37 m?
10 36.21 m? 2 72.42 m?
18 43.07 m? 2 86.14 m?
r 40.94 »? 2 81.87 m?
10 40.48 »? 2 80.95 m?
1e 38.76 m? 2 77.51 m?
2a 56.70 m? 2 113.40 w?
Cryauns 1x  |25.68 M2 2 51.35 M?
Cryama 1n  |29.23 m? 2 58.46 m?
Cryaus 1k |29.38 M2 2 58.76 m?
2 3Tax
1a 43.47 w? 2 86.94 m?
16 35.98 m? 2 71.95 m?
1B 42.86 m? 2 85.71 m?
1r 40.73 m? 2 81.45 m?
10 40.27 m? 2 80.54 m?
1e 38.55 m? 2 77.10 M2
2a 56.49 m? 2 112.98 m?
Cryaust 1x  |25.46 M2 2 50.93 m?
Cryama 1n |29.02 m? 2 58.04 m?
Cryama 1k |29.17 m? 2 58.34 m?

Tun [NpuBeaeHHas

KBapTMpbI nnowlagb Kon-80 Wtoro
3 atax
1a 43.34 m? 2 86.69 m?
16 35.85 »? 2 71.70 m?
1B 42.73 m? 2 85.46 m?
1r 40.60 m? 2 81.20 w?
10 40.14 m? 2 80.28 m?
1e 38.42 m? 2 76.85 m?
2a 56.36 Mm? 2 112.73 M2
Cryomnsa 1x  |25.34 w2 2 50.67 m?
Cryana 1n  |28.89 m? 2 57.78 m?
Cryona 1k |29.04 m? 2 58.08 m?
4 3Tax
1a 43.25 m? 2 86.50 m?
16 35.74 w? 2 71.49 m?
1B 42.63 m? 2 85.27 m?
1r 40.50 m? 2 81.00 m?
1 40.05 m? 2 80.09 m?
1e 38.33 m? 2 76.66 m?
2a 56.27 m? 2 112.53 M?
Cryana 1x  |25.24 m? 2 90.48 m?
Cryona 1n - |28.80 m? 2 57.59 m?
Cryana 1k |28.94 m? 2 57.89 m?
Wtoro: 80 2972.30 M°

4-X 3TaXHbIN 2-X CEKLWMOHHBIN XWUION JOM. (N03. 1 MO reHnnaHy)

[losicHUTENbHas 3anucka (OKOHYaHme).
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